
C-Service 3

First boom cylinder Ø100/60-630 / p=20 MPa

923121Model:F 51 V

923121 - First boom cylinder Ø100/60-630 / p=20 MPa

Page 1 of 2 2011-09-28



C-Service 3

942618111  1Cylinder tube Zylinderrohr

942328012  1Piston rod Kolbenstange

942328443  1Deck Deckel

942328434  1Piston Kolben

823751005  1Seal Dichtung

823752606  1Seal Dichtung

823711077  1Wiper ring Abstreifring

823679808  1O-ring 98,02x3,55 O-Ring 98,02x3,55

823673769  1O-ring 37,69x3,55 O-Ring 37,69x3,55

8236759710  1O-ring 59.69x5,35 O-Ring 59.69x5,35

6120050011  2Joint bearing Gelenklager

5433275012  4Circlip 75x2,5 Sicherungsring 75x2,5

4808354013  1Set screw M 8 x 12 Gewindestift M 8 x 12

9427380114  1Stop Anschlag

3067815015  1Plug Stopfen

8237182116  1Seal ring Dichtungsring

9427360017  1Cover Schutz

9427360418  1Deck Deckel

9427360919  2Bearing Lager

9427360720  1Shaft Achse

4126361021  2Hexagon screw M 8 x 25 8.8 Sechskantschraube M 8 x 25 8.8

4602330822  2Self-locking hexagon nut M 8 8 Sechskantmutter, selbstsichernd M 8 8

4602831723  1Self-locking hexagon nut M 16 8 Sechskantmutter, selbstsichernd M 16 8

5406031824  1Washer M 16 Scheibe M 16

6741101025  2Grease nipple Schmiernippel

9423284550  0Cylinder assy Zylinder komplett

9426391552  0Spanner L=90, D=8 Schlüssel L=90, D=8

9426338653  0Spanner L=60, D=10 Schlüssel L=60, D=10

92.312.1  0First boom cylinder 2 No 451250- Hubzylinder 2 No 451250-

Kit 94262846 Seal kit Dichtungssatz

823751005  1Seal Dichtung

823752606  1Seal Dichtung

823711077  1Wiper ring Abstreifring

823679808  1O-ring 98,02x3,55 O-Ring 98,02x3,55

823673769  1O-ring 37,69x3,55 O-Ring 37,69x3,55

8236759710  1O-ring 59.69x5,35 O-Ring 59.69x5,35

Pos Part No Description EN QuantityDescription DE

923121 - First boom cylinder Ø100/60-630 / p=20 MPa

Page 2 of 22011-09-28


